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O HAAAH &4
F & 539
A | e | g Eq(_? T H(kg/10a) (A ¥/10a)
a) IAH(A)|AZ(B) | %(A/B)|A1H(A)| 21Z(B)|%(A/B)
<f§ﬁ]%> 6 193 | (7.798) | (7.242) | (107.7) | (6,196) | (5565) | (11.3)
sp3 Lok s | A3 | 20 | 4200 | 4000 | 105 | 4320 | 3843 | 112
oA | Mg | ©o] | 40 | 12000 | 11,500 | 104 | 8100 | 7,300 | 111
w3 | AdAA| 9ol | 30 | 7536 | 6280 | 120 | 5554 | 5049 | 110
ZH o)L [ EvE| 50 | 6250 | 6000 | 1042 | 4948 | 4674 | 1059
b3 | gA4A [ EvtE | 20 | 8200 | 7721 | 106 | 5909 | 5052 | 116
AH | &o)FE| 0] | 33 | 8600 | 7.950 | 108 | 8342 | 7473 | 112
O AFAAYN g R
=27 =
=370 gEew A4
A2 | =7 A H 2 7HE/10%) = 7] A} 3}
A5 70 | Q15 7] =) % A7 |1 T =}
(A) (B) (A/B) (A) (B) (B-A)
(@7% 671 | w6 | o4 | 113 | a8 | G2 | 34
. _ 15~20C
%T ?l—}\é gl 5 30 17 15 8 65 7H Iﬂ]/g;g
ERRERE 5 60 8 2 5 -
g5 | AdA 2 30 7 25 25 - -
23 | o] e 7 50 14 2 5 -
M8 | 844 2 30 8 1.2 5.4 4.2 -
Ad | &9 63 425 15 13 5.1 3.8 -
O us % HriAax
W% AR 29 F g R
A g e | by | TS
3 10 93+ Al = k=5 RE | BN Bulzx
7 7 355 8 275 129 111 30 5 -
S - - 1 42 35 7 - - -
QFA 1 40 1 40 32 8 - -
v} 5 1 43 2 80 - 55 20 -
3 1 44 2 70 25 35 10 - -
7} 2 23 1 18 15 3 - - -
1A 2 205 1 25 22 3 - - -
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%
E e
g )
RE I . H A (kg/10a) (1 <1/10a)
(ha) |21 (A)| 91 52(B) [26(A/B) | A1 81 (A)| 21 52(B) |26 (A/B)
AH )| &7 2.0 |(2,6906) | (2,362) | (113.8) | (5,288) | (4,656) | (114)
o'l | &7 04 2,650 2,400 110 5,350 4,800 111
ALeT | g7 0.4 2,600 2,350 111 5,300 4,680 113
o] A
o) | 7] 04 2,750 2,280 120 5,250 4 500 116
e | 27 04 2,800 2,360 118 5,280 4,680 112
HoA o} 7] 04 2,680 2,420 110 5,260 4,620 113
o % 3 BrAs
0% b 7} 5]
A 3 7+ 2 3
8 5| 9|35 =
A 28 | mey | Wse
o] % Al 23] 504 23] 507 44 6 -
(2h) 2% A=UE
O 27] AHFIARE FA 2 A2AFAIE X2 5 24 g4
O R RN




(20) Z3t= FAE AR A" AHAY

b = A
O A4 HdeFE ol&st] anAvt ek W& wakE A
O 271 % oA A 717t AFom G sAE ATAN Ve F

N BN ED)
O A} & H] @ 70,000 Y (E18]40%, 78] 40%, AH-F 20%)

O E: 06au9

O Al a9l

- Aol ZlAgHof| Y= S FAE LA 2" A A
- AN Al W AR A

ST EINE

¥ 0 o A
S B A Al a3 | wEed | @w
Al 2 &7} 0.66 ha 70,000
o1 ol A4 TAAMAIA 12 0.33 ha 35,000
o] k3t TAAMAIA 12 0.33 ha 35,000

R ESeoRey A= pepe T F(kg/102) 25 (1 4/10a)
e ¢ = | L

A (A)]12(B) 2% (A/B)| AW (A) | 12(B) | %6(A/B)

2>
o N

~—
~—

7‘_—])&
A ZL—@% Lol 66 | 8600 | 8540 101 | 12,572 | 9,909 127 -

W% 4 71 @
A 2 - 5 7t A 5
SRR :
* T AT T [ xe [ ae [ a%s
AZ 2 205 1 25 20 5 -
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